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Ecriture romande
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EcCriture romahde
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Répertoire additif :

TRépertoire opérations

—
0 3 i 2 3 4 5 6 7 8 9 10
0+0 0+1 | 0+2 [ 0+3 | 0+4 | 0+5 [ 0+6 | 0+7 | 0+8 0+9 | 0+10
0-0 1+0 | 1+1 | 1+2 [ 1+3 | 1+4 | 145 | 1+6 [ 1+7 | 1+8 1+9
1-1 1-0 [ 240 | 2+1 | 2+2 | 2+3 | 2+4 | 2+5 | 2+6 2+7 2+8
2-2 2-1 2-0 | 3+0 | 3+1 | 3+2 | 3+3 | 3+4 | 3+5 3+6 3+7
3-3 [ 3-2|3-1|3-0[4+0|4+1|4a+2|4+3]|4+4 ]| a+5 | a+6
4-4 | 4-3 | 4-2 | 4-1 | 4-0 | 540 | 5+1 | 5+2 | 5+3 | 5+4 | 5+5
5-5 5-4 5-3 5-2 5-1 5-0 | 6+0 | 6+1 | 6+2 6+3 6+4
6-6 6-5 6-4 6-3 6-2 6-1 6-0 | 7+0 | 7+1 7+2 7+3
7-7 7-6 7-5 7-4 7-3 7-2 7-1 7-0 | 8+0 | 8+1 8+2
8-8 8-7 | 8-6 8-5 8-4 8-3 8-2 8-1 8-0 9+0 9+1
9-9 9-8 | 9-7 9-6 | 9-5 9-4 | 9-3 9-2 9-1 9-0 10+0
10-10 | 10-9 | 10-8 | 10-7 | 10-6 | 10-5 | 10-4 | 10-3 | 10-2 | 10-1 | 10-0
0 1 2 3 4 5 6 7 8 9 10

Répertoire soustractif :




Tables de multipliCation

§ 0 A @ gfﬂ(r L (L § 8 O A A @
H ox2 = o = | ox3 = 0 %~ H ox4 = o =
H 1x2 = 2 = H 1xs = 3 WPy H 1x4 = 4 =
] 2x2 = 4 = H 2x3 = 6 { ] 2x4 = 8 =
Hax2 - 6 & H 3x3 - 9 H 3x4 _ 12 a
H 4x2 - s = Fl 4x3 = 72 Za H 4x4 - 16 -
H 5x2 = 10 H H 5x3 = 15 H 5x4 = 20 H
[ 6x2 = 12 B ] H ¢x3 = 18 H 6x4 = 24 \\/ =
H 7x2 _ 14 = H 7x3  _ 21 H 7x4  _ 28 s
FH ex2 = 16 = 8x3 = 24 H sx4 = 32 ]
H 9x2 = s - 9x3 = 27 H ox4 = 36 - ]
[liox2 - 20 S O 10x3 - 30 ({10x4 =~ 40 F
Hix2 - 22 = 1Nx3 - 33 H 11x4 - 44 -
Hi2x2 = 22— F 12x3 = 36 H12x4 = 48 =
Vi i v i i i, V1m0 i Y,

E
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§ & Qf CCOC O IC MO TETC T @
H oxs = o _ = 0x6 = 0 = H ox7 = o

H 1x5 = 5 & \ H 1x6 = 6 = H 1x7 = 7 -
] x50 = Ho | = 2x6 = 12 | [ 2x7 = 14 H
H sx5 _ 15 ] 3x6 _ 18 n H sx7 2 2 a
H 4x5 - 20 = 4x6 = 24 = H 4x7 - 28 =
H 5x5 = 25 X/ = 5x6 = 30 & L 557 = 35 &
] 6x5 Z 30 -] 6x6 T 36 -] H s6x7 = 2 H
H 7xs - 35 i 7x6 _ 42 3 757 2 =~ [
F| 8x5 = 40 - 8x6 = 48 = H sx7 = 56 Fl
H ox5 = 45 & 9x6 = 54 s H ox7 = &3 H
1oxs - 50 u ] 10x6 Z 60 u ] 10x7 Z 70 7 L
H1xs - 85 H H 11x6 66 = Hunxz - 77 & =
F{12x5 = ¢0 = [ 12x6 = 72 = H{ 12x7 = a4
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0x8 = 0 = 0x9 = 0 -
1x8 = 8 = 1x9 = 9 =
2x8 = 16 H 2x9 = 18

3x8 _ 24 u 3x9 - 27

4x8 = 32 - 4x9 = 36

5x8 = 40 B 5x9 = 45 f \? H
6x8 = 48 ] 6x9 = 54 N L]
7x8 _ 56 a3 7x9  _ 63 N\ H
8x8 = 64 B 8x9 = 72 & ]
9x8 = 712 = 9x9 = 81 S ;
10x8 - 80 i 10x9 - 90 ]
11x8 - 88 = Nx9 _ 99 ||
12x8 = 96 ) 12x9 = 108 =
[T OO OT O T \/ 0 T j\\/




